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JUHHQ�SD\V�����$�UROO�RI�EOXH�SD\V�����7KH�FKDUJH�WR�SOD\�WKH�JDPH�
LV������:RXOG�\RX�SOD\�WKLV�JDPH"��:K\�RU�ZK\�QRW"�

Rz Gz B 6 total

i.si E
ECx C2 l31a tOC46 t3C46

O 50

I would not play this game It
is not fair and in favor of

the house because it is negative
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<RXU�FRPSDQ\�SODQV�WR�LQYHVW�LQ�D�SURMHFW���7KHUH�LV�D�����
FKDQFH�WKDW�\RX�ZLOO�ORVH����������D�����FKDQFH�WKDW�\RX�
ZLOO�EUHDN�HYHQ��DQG�D�����FKDQFH�WKDW�\RX�ZLOO�PDNH�
���������%DVHG�RQ�WKLV�LQIRUPDWLRQ��ZKDW�VKRXOG�\RX�GR"

ofpcxt.IEo
4oo.asECxJ

30,000635 1010.4 155,000625

3250

Yes you should invest ECB is

Positive so in favor of you
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EOXH�SD\V�����$�UROO�RI�JUHHQ�SD\V������:KDW�LV�D��IDLU��SULFH�WR�SD\�
WR�SOD\"

R2 6 Iota

Find the Ead of
2 the info you know

and choose opposite
value for Price
to make the

ECD 6016 121316 game fair
2 T Where Ecd 0

A fair price to pay
would be 2

AKA 2
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